Solution to
Grazing land as a renewable resource

The production function for annual beef production on a pasture is given by

where By, Gy, and H; respectively denote the beef produced (tons), the amount of
grazable grass (tons), and the number of beef cattle (heads) allowed to graze. The
amount of grass available in year ¢t + 1 depends solely on the number of beef cattle
used the preceding year, i.e.

Gy = Q(Ht);

with ¢'(H;) < 0, g(0) = Gy, limpy, oo g(H:) = 0. Beef sells at a price of p per ton,
and the cost of herding, transporting, and processing each head of cattle is c.

(1) Given Gy, characterize the conditions for

(a)

(b)

the maximum beef production.
SINCE by > 0, MAXIMUM PRODUCTION IS OBTAINED BY GRAZING ALL
THE GRASS WITH AN INFINITELY LARGE NUMBER OF CATTLE HEADS.

the number of cattle that will maximize year t’s profits.
YEAR t’S PROFITS ARE MAXIMIZED BY SOLVING

max m, = pGb(Hy) — cH,.

THIS YIELDS THE FOLLOWING FOC:
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THIS COMPLETELY CHARACTERIZES THE CHOICE OF H; TO MAXIMIZE
ONE-PERIOD PROFITS GIVEN (. IT SIMPLY ACCOUNTS FOR THE UNIT
COST OF A HEAD OF CATTLE. WITH 0’ < 0, THIS IMPLIES THAT
HIGHER PRICES OF BEEF AND MORE GRASS WILL LEAD TO MORE HEADS

OF CATTLE, WHILE THE CONVERSE HOLDS WITH HIGHER UNIT COST.

The open access number of cattle.

WITH OPEN ACCESS, WE EXPECT TO SEE COMPLETE RENT EXHAUS-
TION, WHICH IS OBTAINED WHEN AVERAGE PRODUCT IS EQUAL TO
THE UNIT COST OF CATTLE, GIVEN Gt, I.E.
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Interpret briefly your results. (We assume that the second-order conditions
for a maximum are always satisfied.)

Characterize the conditions for a steady-state equilibrium herd size under open
access, year-to-year profit maximization, and maximum sustainable yield.

IN A STEADY STATE EQUILIBRIUM, WE MUST HAVE G,,; = (G;, WHICH
IMPLIES THAT G; = g(H,;),Vt.

INSERTING THIS INTO THE OPEN ACCESS CONDITION, WE GET

pg(Ht)b(Ht) _
H,
IN THE CASE OF YEAR-TO-YEAR PROFIT MAXIMIZATION, WE GET
pg/(Ht)b(Ht) —i—pg(Ht)b/(Ht) =cC.

AS FOR THE MAXIMUM SUSTAINABLE YIELD, THE FOLLOWING PROBLEM
MUST BE SOLVED:
max g(H;)b(Hy).
t

THE FOC OF WHICH IS:
gl(Ht)b(Ht) + g(Ht)b/(Ht) =0.

NOTE THE LARGE DIFFERENCE BETWEEN THE MSY SOLUTION AND THE
ONE-PERIOD MAXIMUM PRODUCTION SOLUTION. THE LATTER DOES NOT
ACCOUNT FOR THE FACT THAT MAXIMIZING TODAY’S OUTPUT WILL LEAD
TO NO OUTPUT NEXT YEAR. THE MSY SOLUTION ACCOUNTS FOR THE
EFFECT OF INCREASING THE NUMBER OF HEADS TODAY ON THE REDUCED
PRODUCTIVITY NEXT YEAR.



